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1 [|1~=*~20°*~ 100~2,000(m?) 2 ot 25,000 =
2 |21 #~30 = 2,100~ 3,000(m?) 7,200 = 11+
3 |31 ~50 = 3,100~5,000(m?) 6,400 = 11 +
4 |51 #~100 = 5,100~ 10,000(m?) 5600 =11+
5 [101 # ~200 * 10,100~ 20,000(m2) 4,800 = 1
6 (201 ©# ~500 = 20,100~50,000(m?) 4,200 ~ 1+
7 |501 # ~800 50,100~ 80,000(m2) 3.600 =11+
8 1801 » ~1,000 = 80,100~100,000(m?) 3,000 =~ 1z ¢+
9 (1,001 = 12} 100,100(m?) 4 * 2,800 ~ 1
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2 |11 = ~20 ~= 1,100~2,000(m?) 18,000 ~ 1z}
3 |21 »~30 *~ 2,100~3,000(m?) 17,000 =~ 1z}
4 |31 % ~40 = 3,100~4,000(m?) 16,000 = 12 }
5 |41 » ~50 = 4,100~5,000(m?) 15,000 ~ 1z}
6 |51 =~75~*= 5,100~7,500(m?) 14,000 ~ 1z }
7 |76 # ~100 = 7,600~10,000(m?) 13,000 = 12
8 |101 = wt 10,100(m?) 1z * 12,000 = 1/}

3.2 gﬁﬁﬁz
(D)~ Fe 2 ﬁﬁ?: ES 7
(2)ZLhinFE mIITS’ s FT
@2 giEsEE e F R

IR 20%(F FEH Ay 21 5% 3,000 &) -

4, %ﬁ" 53 % P A RREE 1200 2 % b
TR EE
20*8,000+10*7,200+20%6,400+50*5,600+100*4,800+300*4,200+
300*3,600+200*3, OOO+200*2 800=4,620,000 ~
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